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Instructions for Candidates

1.

2.

" the answer or he guesses. Let p be the probability that h

Write your Roll'No. on the top immediately on receipt of this question paper.

Attempt all sections.

All questions carry equal marks.

SECTION I

(Attempt all questions. All gquestions carry equal marks.)
Let random variable X be normally distributed with mean K and variance 6.

Obtain the moment generating function of X.

udent either knows
¢ knows the answer

and 1-p be the probability that he guesses the answer. Assume that a student
who guesses an answer will be correct with probability 1/3, where 5 is
the number of multiple choice alternatives. What is the conditional
probability that a student knew the answer to a question given

In answering a question on a multiple choice test a st

that he answered

it correctly ?

Let X be U(0,1). Calculate E[X’].
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5. Suppose that X,» X,s...., X_are independent and identicall
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SECTION II1

(Attempt any six questions. All questions carry equal marks. )

1. An um contains b black balls and r red baljs. One of the balls is drawn at
random, but when it is put back in the urn, ¢ additional balls of the same
colour are put with it. Suppose another bal] is drawn, then prove that the
Probability that the first ball drawn was black given that.s_econd ball drawn wag

red is b/(b+ r + c).

2. Suppose that each of three men at a party throws his hat into the center of the

Toom. The hats are first mixed up and then each man randomly selects a hat,

What is the probability that at least one man selects his own hat 2

3. Show that the expected number of independent trials needed to be preformed

until the first success is attained is equal to the reciprocal of the probability that

any one trial results in a success.

4. Ifthe probability is 0.75 that an applicant for a driver’s license will pass the road

test on any given try, what is the probability that ap applicant will finally pass the

test on the fourth try ?

y distributed random

variables with mean i and variance o2 Then show that
@ E(X)=p
—_ 0'2
(b) Var(X) =—
n

(©) Cov(X, X, - X)=0; i=1,2, ..o
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